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3 0.58 0.62 NG 0.64 0.68 NG
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2 2.30 — OK 1.23 — OK
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2 0.30 0.32 NG 112 1.18 OK
1 0.56 0.60 NG 1.82 1.92 OK
<ZoiE> Is0=0.675. G- Sp =0.3375
XM YAEME]
I-Fé Is CTU -SD EFIIE Is CTU 5 SD EH]E
2 1.80 1.91 OK 1.55 1.65 OK
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ME2TEISE

i -BE5 $Hars)—ria 2lEE B1R
PR EE 4,73317m

BEITE 1.441,418,000
BRHFEIE 400,862,000
Wi iE LS 497,739,000
METEE 2,340,019,000
BATEISE

B - R $gmao)—hE ABE B
PR ETE 9,794.44m

=R T E 298,210,000
NEREIE 39,900,000
BEREREIS 21,400,000
TARNANGRETLS 10,500,000
DAk 16,600,000
BIEIEE & 386,610,000
HBEREE 11,800,000
WIS 398,410,000
HSEBRE 24,300,000
—EEHE 39,200,000
TH{flitk 461,910,000
HE B 46,191,000
WMETEE 508,101,000
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